
N = 211

211 circles in a 1x0.30000 rectangle

radius =   0.019503326430
ratio  =  15.381991430144

density  = 0.840482069077
contacts = 550

 E.SPECHT
16-JUL-2010

N = 212

212 circles in a 1x0.30000 rectangle

radius =   0.019494474900
ratio  =  15.388975672965

density  = 0.843699053925
contacts = 576

 E.SPECHT
16-JUL-2010

N = 213

213 circles in a 1x0.30000 rectangle

radius =   0.019429293599
ratio  =  15.440602534808

density  = 0.842019682613
contacts = 554

 E.SPECHT
23-JUL-2010

N = 214

214 circles in a 1x0.30000 rectangle

radius =   0.019385118126
ratio  =  15.475789110859

density  = 0.842130302421
contacts = 541

 E.SPECHT
04-AUG-2010

N = 215

215 circles in a 1x0.30000 rectangle

radius =   0.019356710664
ratio  =  15.498501021437

density  = 0.843587614457
contacts = 570

 E.SPECHT
17-JUL-2010

N = 216

216 circles in a 1x0.30000 rectangle

radius =   0.019348777445
ratio  =  15.504855583547

density  = 0.846816726398
contacts = 590

 E.SPECHT
16-JUL-2010

N = 217

217 circles in a 1x0.30000 rectangle

radius =   0.019285143025
ratio  =  15.556016339538

density  = 0.845150553004
contacts = 560

 E.SPECHT
16-JUL-2010

N = 218

218 circles in a 1x0.30000 rectangle

radius =   0.019266443057
ratio  =  15.571114974639

density  = 0.847399489566
contacts = 444

 E.SPECHT
04-AUG-2010

N = 219

219 circles in a 1x0.30000 rectangle

radius =   0.019236676139
ratio  =  15.595209787653

density  = 0.848658176188
contacts = 367

 E.SPECHT
24-JUL-2010

N = 220

220 circles in a 1x0.30000 rectangle

radius =   0.019218484811
ratio  =  15.609971491035

density  = 0.850921679170
contacts = 457

 E.SPECHT
23-JUL-2010


